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Complete the first 12 perfect squares, by writing them inside each square.

12=1  2%=4 32

42 = | 52 = 25




7 x<

L en

(. 2FYM ¢ 2JJYNSL

28&7 (-

Compare the pair of expressions. Use pictures of squares to verify your answers.
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m Fill the 3x3 and the 4x4 squares with
Starburst candies, one in each small
square.

Now predict: if you move all candies to fill
out the other square, will you fill it exactly?
Try!

n Based on your experiment, how do the
areas of the three squares relate?

E Now start with the 4x4 square filled
with candies and add candies to 1\ X | RtH
to a 5x5 square. How many candies did
you add? How many extra do you need to
obtain a 6x6 square? Do you see a pattern?
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Let us call Alan and Bob the squares
built on the legs of the right triangle, and
let's Clara be the square build on the
hypotenuse. Then the area of Clara is
the sum of areas of Alan and Bob!
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The Pythagorean Theorem
tells the relation between
the areas of 3 squares built
on the sides of a right
triangle.

The picture shows such Bob

three squares, with areas 4,

9 and 13. 1
Can you guess what is the D Allan
relation between these

areas? A+B=C
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m Alan and Bob are drawn. Draw the

third square (Clara) and find its area

Allan

Bob
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m If Clara has area 52 and Allan has area
36, what is the side of Bob?
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The pythagorean theorem states a
relation between the sides of a right
triangle: if a right triangle has
thypotenuse z and legW _\ E RHénk
squared plus y squared equals to z
squared:
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Move from start to finish by finding the value of x and
following the corresponding arrow labeled with that value.




5>9-&,47*&3 24;,*8 (. 2FYM ¢ 2JJYNSL 2&7 (- 9
THEPYTRAGORS GAME | >l < n K
XLI o
» )the_arfs,Weo i§ incorrect, move back
1 50 your previous position.

%R]XMQI ]SY QE] GLSS

NYWX XLI WUYEVI SJ XL | |
]SYV VSPPW =8 ¥ RMRHX e
IRH XMPI MR SVHIV XS |

Roll 2 dice. Square each number roll
and then add them. Then find the
integer whose square is closest to
that value and move those units.
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When you arrive to a tile, compute
the number or write and answer one
U §uéstion that will be give to you. If







L en

574;.3, 9-* 5>9-&,47*&3 9-"47("22FYM » 2JJYNSL 2&7 (- 11

- 1 -
Based on the pictures, what is
We start with a 1 x 1 square of area 1x1=1, and we want to find the area of the shaded square?
how long is its diagonal. -
Can you describe the rest of the pictures? Discuss with your T

What is the value of d (the —
side of the shaded square)?
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peers. Use your transparencies to describe the actions.




